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BLS-S-FDE

‘0-064>< 625
What is  [——— l1to?
at is 0081x 484 equal fo

10
(a) gg-

100
b -
(b) 99
() 9
(d) 99

(x + 4) is a factor of which one of the following
expressions ?

(a) x°-Tx+44
(b) x°+7x-44
€ x*-Tx-44
d) x*+Tx+44

If o and P are the roots of the quadratic
equation 2x% + 6x + k = 0, where k < 0, then

what is the maximum value of = + B ?
a
(a) 2
by -2
(¢ 9
d -9

Consider the following statements :

1. If a=be with HCF (b, ¢) =1, then
HCF (¢, bd) = HCF (¢, d).

2. If a=be with HCF (b, ¢) = 1, then
LCM (a, d) = LCM (¢, bd).

Which of the above statements is/are correct ?
(a). - 1only

(b) Z2only

(¢) Bothland2

(d) Neither 1 nor 2

(2-A)

What is the square root of

0352 + 070+ 1

595 +0197
(@ 1
b)) 2
() 3
d 4

What is the number of digits in 2407
(Given that logm 2 =0301)

(a) 14
(b) 13
() 12
d 1

If ane root of
(a2-5a+3)x2+(3a-1)x+2=0

is twice the other, then what is the value
of ‘a’ ?

(a) %
b) -%
(c) %
@ --;-

What is the remainder when the number
(4444)14 is divided by 9 ?

(a) 4
(b) 6
() 7
d 8

| https://www.pygonline.com



' ) ! 2 *
0064x625 fos e 8 5, OB A0T0+1 19 o ol R s

0081x 484 2256
10 - 27
(a) §§
(a) 1
100
(b)y —
99 (b) 2
e 9 (c) 3
d)y 99 (d 4

2. {x+4),ﬁwﬁ—rfiaaaiaaﬁﬁﬁ%awgumégs_ 9403 37 it T fead 2 2
g7

(feam T & f46 log, 2 = 0:301)
(a) X2 —Tx + 44

(b) X%+ 7Tx-44 @ 1
(@ x*—Tx-44 by 13
(d) X+ Tx + 44 () 12

(d 11

3. ufe oI p fgumd wfiemor 2x2 + 6x + k = 0, &l
k<08, %q@.%s at %-l-% &1 sfeemad 91 |7, Ife TR (a® - 5a+3) x>+ (Ba-1)x+2=0

TR 7 1 TH I A G H G 8, A @ F AH 7
‘ 29
(a) 2
' 2
by -2 (a) 3
(e) 9
y
@ -9 by -3
. 1
4. Trafafen wo w foem Hifv © 3
1. 3 a=be T HCF(b,c)=1, @ . 1
HCF (c, bd) = HCF (c, 4). @ -3
2. Ak a=bec d HCF (b, ) =1, T .
LCM (a, d) = LCM (¢, bd). 8. ¥ &l (4444 & 9 @ fawfsa feram S
T e 3 & FER T 3 0 &, T T 1 A ?
(a) had 1 (a) 4
(b) oheret 2 (b) 6
(¢) 13 23 © 7
(d TAM1LTH2 @ 8

BLS-S-FDE (3-A)
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{ - .Ja— 12.
9. If x= a+b b , then what is
Ja +bh+ .Ja -b
bx? - 2ax + b equal to (b # 0) ?
(a) O
b 1
(¢) ab
(d) 2ab
13.
10, What is the value of
(443 +547)% + (443-547° |
443x 443+ 547x547
(@) 0
(b) 1
(© 2 14.
) 3
1 o
1. If x=t'""1 and y=1t'"1,t>0,t#1, then
what is the relation between x and y ?
(a) yx - xl!’y 15.
(b) <y - ylfx
() xV=y*
d x¥= yL’x
BLS-S-FDE (4-A)

If A: B =3: 4, then what is the value of the
3A? 4 43]

- 19
3A — 4B2

+

expression (

43
56
_ 43
55
47
55

(a)
(b)

(c)
(d) Cannot be determined

If A = {x:xis a multiple of 7},
B = {x : x is a multiple of 5} and
C =[x : x is a multiple of 35},
then which one of the following is a null set ?

(a (A-B)UC

(b) (A-B)-C
@ AnBNC
(d (AnB)-C

If x=02+2284 2”3, then what is the value of
x5 —6x2 + 6x?

(@) 38
(b) 2
© 1
d 0

If JE=%+JE and X +y =26, then what
y & X

is the value of xy ?

(a) &

(b) 15
(c) 25
(d) 30

https://www.pygonline.com




Ja+b-Ja-b
9. AR x=Y2' , 12.
Ja+b+Ja-b
bx? - 2ax + b TFEF TR R (b= 0) ?
(a) O
(by 1
(c) ab
(d) 2ab
13.
L Rgm2 e g2
10. (443 + 54N* + (443 - 547) 1 A0 W% 9
443 x 448 + 547 x 547
(a) 0
0 1
(e) 2
@ 3 "
1 bt
11, A x=t'"1 W y=tt"1, t>0,t21, A
x 3R y & A€y T gray g 9
(a) y*=xW 16.
(b) xW =ylx
() x¥=y*
d x=y¥
BLS-S-FDE (5-A)
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R 2
e A:B=3:4,d qTF ?’A—”f F1 UM
3A — 4B

L ?
43
55
_ 43

55

47
55

(d) e 7 < g

(a)
(b)

(e)

I A = (x: x, 7 T U 8,
B =(x:x, 5% & T g} 3R
C = (x : x, 35 % Th U B},

it frfafias # @ #Ra foa g=g R 2
(@ (A-B)uC
b) (A-B)-C

) (AnB)NnC
d (AnB)-C

Zﬁ x=2+223+2U3, @ x°-6x° + 6x H
A R R ?

(a)
(b)
(c)
(d)

o
o = o

qﬁ JE=E-!-\/E 3ﬂ’(x+y=26,fﬁ xy hl
y b X

A T8 ?

(a) 5

by 15
() 25
(d) 30




16, What is the solution of the equation 20.
x log,o (%) +log,, 3 = log; (2 +39) +x7?
(a) 10
b 3
) 1
(d 0
21,
17. If o and B are the roots of the equation
x2 + px + q =0, then what is o + % equal to ?
(@ p*-2q
(b) q*-2p
(c) [:l2 +2q 22.
@ ¢*-q
18. If a®=335+1b% and a=5+b, then whatis
the value of a + b (given thata>0and b>0)?
(a) 7.
(b) 9
(c) 16
d) 49 23.
19. If 953 = 2187 and 2% 2% — 4% =0, then
what can be the value of (x + y) 7
(a) 1
(b) 3
(¢ b
d 7
BLS-S-FDE (6-A)

The pair of linear equations kx + 3y + 1 =0
and 2x +y + 3 =0 intersect each other, if

(a) k=6

(b) k=#6

(@ k=0

(d) k=#0

The number of prime numbers = "1 are less
than 100 is

(a) 24

(b)y 25

() 26

d)y 27

The cost of a diamond varies directly as the
square of its weight. A diamend broke into
four pieces with their weights in the ratio of
1:2:3:4. If the loss in total value of the
diamond was ¥ 70,000, what was the price of

the original diamond ?
(a) ¥ 1,00,000
(b)  1,40,000
(¢} ¥ 1,50,000
(d ¥ 1,75,000

In a 100 m race, A runs at a speed of % m/s. If

A gives a start of 4 m to B and still beats him
by 12 seconds, what is the speed of B 7

(a) % m/s
(b % e
(c) % m/s
@ g e
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16.

17.

18.

19.

BLS-S-FDE

grfe

x log, [%QJ log)y 3 = log;((2 + 3% +x

I g T 8 ?
(a) 10

(b) 3
(¢} 1

A o 3R B, W x% + px + q = 0 F 7 §,
A o + p? forees TUE R 2

(a) p?-2q

® q*-2p

() p?+2q

@ q¢’-q

a%=335+b° I a=5+b,1dl a+b
AT g (fmm g fFaso0ab>0)?

(a) 7

A 9*3¥=2187 3 2% oY _4¥-0, @
(x + y) T T 7 & Thal 8 ?

@ 1

(b)
(c)
@

=] o Qo

20.

21.

22,

23.

et g FfF kx+ 3y +1=0 3
2x+y+3=0@-@3ﬁ'§ﬁi@?{m%s
4t

(a) k=6

(b) k#6

() k=0

(d k=0

100 ¥ BT W= TEATA (prime numbers)
qE

(a) 24

(b) 25

(c) 26

(d) 27

W B UeT T A9 6 A b ATEY Youw
yitafdd g € | Tk g IR 9Pl 3§ gg T S
THel % A9 HI UM 1:2:3: 437 | AR N
F F Ted § T 70,000 F THAA gIAT &, A
B 1 IRIYF qog = o1 ?

(a) ¥ 1,00,000
(b) ¥ 1,40,000
(¢) ¥ 1,50,000
(d) ¥ 1,75,000

100 m 1 T A A,g- m/s 1 TR A e

g1l A gem 4 B, 4 m 3 (d&m H
IR) ¥ e Y& w3 R R o A B

12TFE AR, A BRI FIZ?
(a) g S
) %mﬁs
(c) %mfs
@ 3 s

https://www.pygonline.com



24. If 15 men take 21 days of 8 hours each to do a
piece of work, then what is the number of days
of 6 hours each that 21 women would take, if
3 women would do as much work as 2 men ?
(a) 18
(b) 20
(e) 25
(d) 30

25. What number must be subtracted from both
the numerator and the denominator of the
fraction ?i so that it becomes 2 ?

35 3
(a) 6
(b) 8
() 9
d 11

26. A sum of T 8,400 was taken as a loan. This is
to be paid in two equal instalments. If the rate
of interest is 10% per annum, compounded
annually, then the value of each instalment
18
(a) F4200
(b) T 4480
() T 4,840
(d) None of the above

BLS-S-FDE

217.

28.

29.

30.

(8-A)

Leela got married 6 years ago. Today her age

is 1itimes her age at the time of her

marriage. Her son’s age is %times her age.

What is the present age of her son ?

(a) 1year

(b) 2 years
(¢) 3years
(d) 4years

A and B working together can finish a piece of
work in 12 days while B alone can finish it in
30 days. In how many days can A alone finish
the work ?

(a) 18 days
(b) 20days
(c) 24days
(d) 25days

The values of x which satisfy the equation
51+ % 4 51X = 96 are

(a -1,1
b 0,1
© 1,2
@ -1,0

If 5 men can do a piece of work in 10 days and
12 women can do the same work in 15 days,
the number of days required to complete the
work by 5 men and 6 women is

(a) 7% days
(b) 8days
() 9 % days

(d) 12 days

https://www.pygonline.com



24, A 8w wfofe wm = W 15 ot Tk FW

25.

26.

BLS-S-FDE

F A H 91 fom o E, A I I oA W
iifer wa g 21 o fr fm o @@
urdrt, afe 3 afid, 2 el & wm % T
S HT E ?

(a) 18
(b) 20
(c) 25

(d) 30

ﬁﬁ%%maﬂtﬂtaﬁﬁ%'ﬁ?-ﬁm
mﬁm,mﬁs%%@m?

(a) 6

) 8

(;':} 9

d 11

T 8400 TH GRN UR WA W 2 | W A
FOeR el § gehrn S # | AR weafy s
T 10% ¥ir o @ S Affr w9 F Srer

(a) ¥ 4,200

(b) ¥4,480
(¢) T 4,840

I | & HS A

G)

27, e 1 faarg 6 O qd goM U1 | S IHR

28,

29,

30.

(9-A)

@

3T, 3% AR ¥ W A oy A 1%{;&

2 | 30 O Y Iy, Igeht g %ﬂ‘ﬁal
I T3 6l FAAH g T8 ?

(a) 199

2 94

¢ 399

4o

A 3 B U @1 ®W w0k 0% H #5129 A
AT & ohd 8, T8 B 3Fhd 36 S HI
30 &7 # o w1 § | 3Tk M WA GLA I
F1 ! forae fom o gumm W TwA R 2

(@) 18T
b 20 &
(¢ 24 T
@ 25 fm

aftewr 51 % 4 51 7% = 26 H HgR @ T

x % A HH-H § ?
(@) -1,1

(b) 0,1

¢ 1,2

-1,0

e 5 ogfi v HF F 10 7 § = g &
3t 12 3t 3t w15 7 o = weedt

a5 3medt 3k 6 3 3t Y e fem A
T HAT 2

(a) 7%1‘&:1

(b) 8fe

(c) 9%1%?

@ 12f=
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31. A passenger train departs from Delhi at 6 p.m.
for Mumbai. At 9 p.m., an express train,
whose average speed exceeds that of the
passenger train by 15 km/hour leaves Mumbai
for Delhi. Two trains meet each other
mid-route. At what time do they meet, given
that the distance between the cities is
1080 km ?

(a) 4 pm.
(b) 2am.
(¢) 12 midnight
(d) 6am.

32. In a class of 49 students, the ratio of girls to
boys is 4 : 3. If 4 girls leave the class, the ratio
of girls to boys would be
(a) 11:7
(b) 8:7
(e) 6:5
(d 9:8

33. If a+b=5 and ab =6, then what is the
value of a® +b? ? )

(a) 35
(b) 40
() 90
(d) 125

34. Rajendra bought a mobile with 25% discount
on the selling price. If the mobile cost him
T 4,875, what is the original selling price of
the mobile ?

(a) ¥ 6,300
(b) ¥ 6,400
(&) ¥ 6,500
(d) 6,600
BLS-S-FDE

35.

36.

37.

38.

(10-A)

A 225 m long train is running at a speed of
30 km/hour. How much time does it take to
cross a man running at 3 km/hour in the same
direction ?

(a) 40 seconds
(b) 30 seconds
(e) 25 seconds

(d) 15 seconds

Whic‘n OIe among the following is the largest ?

(a) ET}
) %
(© %
@ %

The difference between the simple and the

compound interest on a certain sum of money
at 4% per annum in 2 years is ¥ 10. What is

the sum ?

(a) ¥ 5,000
(b) T 6,000
(¢) 86,250
(d) 17,600

If a% of a + b% of b = 2% of ab, then what
percent of aisb ?

(a) 50%
(b)  T5%
(e) 100%

(d) Cannot be determined

https://www.pygonline.com



31,

32.

33.

34.

BLS-S-FDE

TF TR @R 6 p.m. W gt @ R & oo
YA w B | T wEse o), e
st i ard M F 15 kAT Al B,
9p.m.ﬂ§ﬁ§@ﬁﬁ%?ﬂqﬁ?ﬁ% I??Fﬁ
temfsat werant 3 whgE A fed & 1 gl
Yermieat fore wmy fireiht, afg a1 wedl & =
&1 gl 1080 km & ?

(a) 4pm.

(b) 2am.
(¢) 12 Weaufy

(d) 6am.

49 TenfRii 6 v wen A, el 9 @ #
I 4 3% | A 4 TR wan Bl A &
N wrefHal o wigen! 1 U T B 2

(a) 11:7

Il a+ b =53 ab=6,dl a° + b° & TH FT
R

(a) 35

(b) 40

(¢) 90

(d) 125

g 4 fore 0o W 25% @2 % WY S
eEd wie | gt I8 AiEEa T 4,875 ®
wler, @ AT S IRITE s go o g ?

(a) ¥ 6,300
(b)
{c) T6,500
(d)

¥ 6,400

¥ 6,600

35.

-1 36.

37.

38.

(11-A)

995 m S Th @El 30 km/Ee Y ufq @
T W 2 | 98 U AeH! @I, S 3 km/ET
e & e & =ed i o A 9w w g, W

F H Topam g9 ot 2
(a) 40 HFTS
(b) 30 JHTE
(¢) 25HFTS
(d) 158=0S
freafafga § @ - gag 7212 7
7
(a) g
11
(b) I
3
(c) Z
@ 2
13

TF AU W 4% 9 ad H @ q 299 #, wa
9 wshalg SN H G T 10 B | HAARN
2

(a) ¥ 5,000
(b) < 6,000
() ¥6,250
(d) ¥ 7,500

a2 a T a% + b %1 b% = ab &1 2% &, A a B
e wfaw@ b2 2

(a)
(b) 75%

50%

(¢) 100%

(@) T 78 s gharl
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39. %th part of the population in a village are|4g
males. If 30% of the males are married, the
percentage of unmarried females in the total
population is

2

20=

(a) 5
2

b 27—
(b) 5
7

(e) 27—
¢ 9
2

(d) 29=
9

44,

40. Sunil wants to spend ¥ 200 on two types of
sweets, costing ¥ 7 and ¥ 10 respectively.
What is the maximum number of sweets he
can get so that no money is left over ?

(a) 25
(b) 26
e) 27
(d) 28

41. What is the LCM of x® + 8, x% + 5x + 6 and
x3 + dx% + 4x ?

(a) x(x+2°%(x+8)(x%-2x+ 4) 45.
() xx-2¥x-3)(x%+92x+ 4j

©0 x+22x+3)x2-2x+4)

@ (x-2°%(x-3)x%-2x+4)

42, The HCF of two expressions p and q is 1. What

is the reciprocal of their LCM ?
(@) p+q
(b) p-g
(¢ pq
d (pg~!
BLS-S-FDE (12-A)

What is the value of 31J412— 7
125

(a) lE

5
) 1%
(c) 1%
@ 2%

A thief is spotted by a policeman from a
distance of 100 m. When the policeman starts
the chase, the thief also starts running. If the
speed of the thief is 8 km/hour and that of the
policeman is 10 km/hour, then how far will the
thief have to run before he is overtaken ?

(@ 200m
(b) 300m
(c) 400m
(d 500m

Aman and Alok attempted to solve a quadratic
equation. Aman made a mistake in writing
down the constant term and ended up in roots
(4, 3). Alok made a mistake in writing down
the coefficient of x to get roots (3, 2). The
correct roots of the equation are

(a) -4, -3
(b) 6,1
() 4,3
d -6, -1
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5

39. wv‘hﬁm@mmgmwﬁlaﬁ

30% 9 faifea €, @@ @ Swen #
Ffaanfea wlenat & wlowa fram & 2

2

2 -

(a) 09
2

b 27—
(b) 5

7
27—
(c) 3

2
d) 29—
(d) 3

40, TH& T 200 @ VAR H el W @" w0

41.

42,

BLS-S-FDE

=Teal 2, fFe go7 F99 T 7 9 T 10 @ |
firareat it 98 sifteran e = 8, 58 o1 W
H1E F997T Y T &7 2

(a) 25
(b) 26
() 27
(d) 28

x3+8, x> + 5% + 6 3 x4 4x% + dx @
LCM &1 8 ?

(a) x(x+2°2(x+3) (x2 - 2% + 4)
) x(x-2)2(x-3)(x%+2x+4)
() (x+2°2%(x+3)(x%2-2x+4)

@) (x-22%x-3)(x%-2x+4)

<l Ssiehl p 31T q %1 HCF, 12 | 39 LCM &
IR 1 & 7

(@) p+gq

(b) p-q

() pq

d (pg) !

44,

45.

(13-A)

3412 oA T R 2
125
(a) 1E
5
2
b 1=
(b) E
(e) 1i
5
9
) 22
(d) 5

u o 3w SR 100 m H T E Ffwa
e | 5w furdt 3 fer e E foan, a@f =R
off yre @ | 3t S h Tl 8 kv B AR
foarél 1 e 10 kel 2, A TS T F TS
<R A fereft gt s g 2

(a) 200m
(b) 300m
(c) 400 m

(d 500m

FF 3R s 3w fgua o @ g
T H W R | o A Frm wg forea ane
Tt @ 3 qH (4, 3) T | e | x
%1 Ui forEa T et SR e (3, 2)
e | Tt & dEl 4 8

(a) -4, -3
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46.

Consider the following statements :

1.  Oftwo consecutive integers, one is. even.

2.  Square of an odd integer is of the form
8n + 1.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

47. The system of equations 2x +4y=6 and
4x + 8y =8 is
(a) Consistent with a unique solution
(b) Consistent with infinitely many

solutions

(¢) Inconsistent
(d) None of the above

48. (N’ '_1)isa multiple of p, if N is prime to p
andpisa
(a) Prime number
(b) Rational number
(¢)  Real number
(d) Composite number

49. The ratio of two numbers is 1 : 5 and their
product is 320. What is the difference between
the squares of these two numbers ?
(a) 1024
(b) 1256
(c) 1536
(d) 1640

50.. 25 kg of alloy X is mixed with 125 kg of
alloy Y. If the amount of lead and tin in the
alloy X is in the ratio 1 : 2 and the amount of
lead and tin in the alloy Y is in the ratio 2: 3,
then what is the ratio of lead to tin in the
mixture ?
(a) 1:2
(b) 2:3
(¢) 38:5
d 7:11

BLS-S-FDE

51.

52.

b3.

(14-A)

The mean of 5 numbers is 15. If one more
the mean of the
6 numbers becomes 17. What is the included
number ?

number is included,

(a) 24
(b)y 25
() 26
(d 27

The mean marks obtained by 300 students in
a subject are 60. The mean of top 100 students
was found to be 80 and the mean of last
100 students was found to be 50. The mean
marks of the remaining 100 students are

(@) 70
(b) 65
() 60
(d) 50

Consider the following distribution :

Class Frequency
0-20 17
20 - 40 28
40 - 60 32
60 - 80 f
80- 100 19

If the mean of the above distribution is 50,
what is the value of f ?

(a) 24
(b) 34
() 56
d 96
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6. fr=fafias wemt w foam Hifore 51.
1. VwmrEEPTH I IHE R |
9. Whmmuls St Fen+ 1F w0 H
forg wed 2 |
I FeAl § W B T8 3R 2
(a) had 1
(b) Had 2
(¢) 13 2gHt
d Ta 1,782
417. Hrﬁmﬁm2x+4y=63ﬁl'4x+8y=8 52.
(a) U Al B &% | T B
(b) Faq: 3D gl & TN TG B
() 3WE 2
@) I9F ° ¥+ T
48, p® TH T (N° "' -1)%, IR N, p & Iy
g pR T
(a) AT TEA
(b) TR T
(¢) dTEdfash g&
d) W= &
53,
49, T TEIST H IFIC 1: 58 N IR UG
3202 | ¥ 3 gEmal & I & €9 w1 AW
2
(a) 1024
(b) 1256
(© 1536
(d) 1640
50. 25 kg fauTg X # 125 kg fagurg Y & Ay
fufra fopa mam 1 afg fagerg X & e o Gm
(FR) Y TE 1 I 1: 23 R fiyag vE
dign S gm i Jn F I 2: 3%, @ R/
frsror & ofren afi G et 3rUTa A @ 2
(a) 1:2
(b) 2:3
(c) 3:56
d 7:11
BLS-S-FDE (15-A)

5 ORI w1 AT 15 2 | AR Us IR wEw
S ST, @ 6 wEe & e 17 | T 2 |
S TS HE T 2

(a) 24

(b 25

(0 26

dy 27

frdt fawg o 300 feenfdal gro s fdw o
il w1 30 60 % | 98 2 & 100 faenfdai

% el 1 20Ea 80 IR AT @7 ARl T &
100 fererfefat & sttt 3@ 50 9T T |
3§ @ 100 faenfeiat % st &1 fwa fram g 2
(a) 170 |
(b) 65
(c) 60
(d) 50
ffefigs s W foaw Fifse
i A

0-20 17

20 — 40 28

40 - 60 32

60 — 80 f

80 - 100 19

afé 39 s H WE 50 B, A f H AA
g2

(a) 24

(b) 34

(c) 56

d) 96
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54.

In a pie diagram, there are four slices with
angles 150°, 90°, 60° and 60°. A new pie
diagram is formed by deleting one of the slices
having angle 60° in the given pie diagram. In

the new pie diagram

(a)
(b)
(c)
(d)

The largest slice has angle 150°
The smallest slice has angle 70°
The largest slice has angle 180°
The smallest slice has angle 90°

55.

In an asymmetrical distribution, if the mean
and median of the distribution are 270 and

220 respectively, then the mode of the data is

(a)
(b)
(c)
(

120
220
280

56.

d) 370

Let a, b,c, d, e, f, g be consecutive even
numbers and j, k, [, m, n be consecutive odd
numbers. What is the average of all the
numbers ?

3(a+n)
2

(51 + 7d)
1

(a)

(b)

()
(d)

(a+b+m+n)
4
None of the above

57.

An individual purchases three qualities of
pencils. The relevant data is given below :

Quality

Price per
pencil (in ¥)

Money
spent (in ¥)

A

1-:00

50

B

1-50

X

C

200

20

It is known that the average price per pencil is
¥ 1-25. What is the value of x ?

(a)
(b)
(c)
(d)
BLS-S-FDE

710
¥ 30
T 40
T 60

(16-A)

58.

59,

60.

Consider the following frequency distribution :

X | Frequency | Cumulative frequency
1 8 8
2 10 18
3 |' £ 29
4 | fy 45

What are the values of f; and f, respectively ?

(a) 10and17
(b) 17 and 10
(¢} 1land16
(d) 16and1l

If D is the number of degrees and R is the
number of radians in an angle 6, then which
one of the following is correct ?

(a) =D=180R
(b) aD=90R
(¢) =R =180D
(d) aR=90D

What is the minimum value of

9tanZ 0+ 4 cot? 6 ?

(a) 6
b 9
() 12
(d) 13
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b4,

56.

56.

57.

U\ﬁqﬁﬂ'@ (pie diagram) % =K WP &
150°, 90°, 60° & 60° & | Tu T IAR@ % 60°
HI TR WM B F W TH 1 gARG
TR | T geRE H

(a) TEY TS 9T K H 150° 2

(b) TEH B WA HI BT 70° ]

(c) TE® TS WIT HT HI0 180° B

(d) GER B WA H BT 90° 2

T Wi §eA °, A 9 1 wied 9w
FAN: 2709 220 8, A A H1 FTEH HT 8§ ?
(a) 120
(b) 220
(©) 280
(d 870

A T a, b, ¢, d, e, f, g FHATTG TH TEIE &
3 j, k, I, m, n AT few et § | gt
TETAT T W F91 8 7
3(a+n)

2
(61 +7d)

4
(a+b+m+n)

(a)

(b)

(c)
4
@ I9Y% A/ H @

s ARk d1 YER 6 ifid wleq @ | g9
aﬁ%ﬁﬁnm%:

A %‘?‘??% ?mﬁﬁﬁﬁ

A 1-00 50
B 1-50 X
C 200 20
77 7 § T 7o dfea =1 ofvd 10 T 126
Bl x® ARG ?

(a) T 10

(b) ¥30

() T40

(d) ¢T60

BLS-S-FDE (17

58. Frefeifias srEmar se7 ® famm A

1 8 8
2 10 18
3 f) 29
4 . fy 45

f, 3R £, % HIT A T E 7

(a) 10 AR 17
(b) 173K 10
© 11316

(A 18 =0T
iy 40

11
LA

59. af: fsdh For o #, D W F aw R
) g 2, o Fafafas § § F9-a1 gev gd
22
(a) nD=180R
(b) =D =90R
(© =R =180D
{d}. ?IR:QOD

60. 9tan® 0 + 4 cot’ O T FCITH HH T & ?
(a) 6
b 9
() 12
@ 18

-A)
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6L, If xsin0=ycos 0= 2220 then whatis | g
1-tan“0 ’
dz% (x2 + y%) equal to ?
(a) (x%+ y2}3
(b) (x2 _ }’2]2
© 2-y»?
d &%+y??
62. If cos B, + cos 0y + cos 8, = 3, then what is
sin 0, + sin 0, + sin 8, equal to ?
17T Y A 66.
(a) 0
(b) 1
() 2
(d 3
63. What is the value of 8 which satisfies the
equation cos 6 +tanb6=1 ?
(a) 0°
(b) 30° 67.
(c) 45°
(d) 60°
64. What is the value of
. 1 1
sin X + ?
\/1 +e0sx 1-cosx
(@) V2
(b) 242
(c) \@ tan x
@ o
BLS-S-FDE (18-A)

cos*A - sin*A

cc)s2 2A

What is

equal to ?
A - sin

(a) cos?A—sinA
(b) cosA-sinA
(c) 1

d 2

If 7sin®x+3cos®x=4, 0<x<90°, then
what is the value of tan x ?

(a) 2
b 1
J3
(C} ?
1
d il
(d) 5

An aeroplane flying at a height of 300 m above
the ground passes vertically above another
plane at an instant when the angles of
elevation of the two planes from the same
point on the ground are 60° and 45°
respectively, What is the height of the lower

plane from the ground ?
(a) 10043 m
100
(b) —=m
J3
(¢ 5043m
(d) 150(¥3+1)m
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61.

62.

63.

64.

2z tanb
2etand g g
1-tan“06

4% (x> + v e s 2 2
(a) (2+y?3
(b) (x*—y??

(c) (x2 _ y2)3

e xsinf=ycos 6=

@ x%+yH?

fg cos 0, + cos 6, +cos 04 =3 '3,

al sin 6, + sin 6, + sin O, fohEeh ST R 2
(a) 0

(b) 1

() 2

(d 3

0 I BT A FHHOT cos 6 + tan 6 = 1 !
TR HAT 8 ?

(a) 0°

(b)
(c) 45°

(d)

30°

2.2

65.

66.

67.

(c)
(d)

BLS-S-FDE

\Etanx

0

(19-A)

4 . 4
cos” A — sin" A [reee
TR 2 ?
cos®A — sin?A

(a) cos?A—sin® A

(b) cosA-sinA

?Jﬁ7sin2x+3c052x:4,0<x-r:90°%,T‘ﬁ
tan x 1 A9 #4971 8 ?

(a)
(b)

(c)

Sl sl 7 8

T gaT8 SERH, S Ol ¥ 300 m H FAE |
Ig T 7, FREl g0 W OE qE R e 6
FEER ST H TERAT 8 | I & | 9T & Th
60°F 45° 9 | A1 A gAR TE I el W
ST T 7

fo

10N
LUV N 1L

S

100
(bh) —m

J3
© 50V3m

@ 150(v3+1)m
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68, Ifx=acosO+bsinfandy=asin0-bcosH, |72 The angles of a triangle are in the ratio
then what is x% + y% equal to ? 2 :4: 3. The smallest angle of the triangle is .
(a) 2ab (a) 20°
(b) a+b (b)  40°
(€ a%+b? € 507
(d) 60°
(d) a?-b?
73. A ball of radius 1 ¢m is put into a cylindrical
69. From the tOp of a bui]ding 90 m high, the plpe go that it fits inside the plpE‘ If the length
angles of depression of the top and the bottom of the. pipe is 14 m, what is the surface area of
of a tree are 30° and 45° respectively. What is the pipe ?
the height of the tree ? (a) 2200 square cm
(a8 30v3m (b) 4400 square cm
(b) 90-303m (¢) 8800 square ¢cm
(¢) 90+30V3m (d) 17600 square cm
(d) 60+30v3m
74. The areas of two circular fields are in the ratio
16 : 49. If the radius of the bigger field is 14 m,
_ ' . then what is the radius of the smaller field ?
70. Which one of the following triples does not :
represent the sides of a triangle ? (@) 4m
(a) (3,4,5) (b) 8m
(b) (4,7,10) (¢ 9m
() (3,6,8) (@ 10m
(d (2,3,6)
75. Let ABCD be a rectangle. Let P, Q, R, S be the
mid-points of sides AB, BC, CD, DA
71. If the perimeter of a rectangle is 10 ¢cm and respectively. Then the quadrilateral PQRS is
the area is 4 cm?, then its length is a
(a) 6cm (a) Square
) 5cm (b)  Rectangle, but need not be a square
(¢) 45cm (¢)  Rhombus, but need not be a square
d) 4cm (d) Parallelogram, but need not be a
rhombus
‘BLS-S-FDE (20-A)
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68.

69.

70,

71.

BLS-S-FDE

IfC x=acos 6 +bsinb 3N
yzasinB—hcosG%,?hx2+Y2ﬁ“_G%w
27

(a) 2ab

(b) a+b

(¢) a?+b?

@ a?-p?

Tt 90 m Fft o Tma & W | T @ >
¥ o aa o ETET HIT HHE: 300 W 45°
2 1ggH IR R 2

(a) 3043 m
(b) 90-30y3m
() 90+3043m

(d) 60+3043m

Freaferfian & S % T B B i
& 75T qutar 3 2

(@) (3,4,5)
(b) (4,7,10)
() (3,6,8)

(d) (2,3,6)

It ©F Ed F1 WREM 10em IR Fww

4cm2%,a°r3mﬁrmr§w% ?
(a) 6cm

(b) 5cm

() 45cm

(d) 4cm

72.

73.

74.

75.

(21-A)

fereft Fiagst o ioni o1 oI 2:4:38% | W
Byt 1 e e o @

(a) 20°
(b) 40°
(c) 50°
(d) 60°

foret STFR TR # 1 em B ARl T i
et 7 2 o gE g @@ e & ot @ | Al
TsY I AT 14 m B, @ Y H I HI6
fram 8 2

(a) 22003 cm
(b) 44009 em
(c) 88003 em
(d 17600 em

3 IR G % S BT AT 16: 497 |
I 95 @d I B= 14 m B, @ B @a H
femand e

(
(
() 9m
(d) 10m

uM ofifi ABCD T 3Td 2 | 3fe seeit AB,
BC, CD, DA % #eg.forg AW P, Q, R, S &, @

wqds PQRS 1 & ?

(a) @i

(b) o1, foheg a1 BT TavES TE
(c) wagys, e ot g amevas

(d) TR Sgde, fhmg Taeg B amavas
Ta
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76. Let P, Q, R be the mid-points of sides AB, BC,
CA respectively of a triangle ABC. If the area
of the triangle ABC is 5 square units, then the
area of the triangle PQR is

5 :
(a) 3 square units
b it
square units
23
5 ‘
(c) 7 Square units
(d) 1 square unit

77. If each of the dimensions of a rectangle is
increased by 200%, the area is increased by
(@) 300%

(b) 400%
() 600%
(d) 800%

78. Three circles each of radius 3-5 em touch one
another. The area subtended between them
is
(@) 6(/3n-2) square units
(b) 6(2n—+/3) square units
(c) 1%9 (243 -m) square units
(d) % (V3 - 1) square units

BLS-S-FDE

79.

80.

81.

(22-A)

The area of a regular hexagon of side ‘@’ is
equal to

(a) ?2 a? square units

(b) i;?- a? square units
1 5 .

(c) 3 a“ square units

(d) % a? square units

ABCDETF is a regular polygon. Two poles at C
and D are standing vertically and subtend
angles of elevation 30° and 60° at A
respectively. What is the ratio of the height of
the pole at C to that of the pole at D ?

(a) 1:1

(b) 1:243
© 2V8:1
@ 2:43

Two parallel chords of a circle whose diameter
is 13 c¢cm are respectively 5 cm and 12 em in
length. If both the chords are on the same side
of the diameter, then the distance between
these chords is

(a) b55cm
(b) 5em
() 35cm
(d 38em

https://www.pygonline.com




76. WA Wi feelt fgs ABC #t yatt AB, B,

77.

78.

BLS-S-FDE

CA % meafag %W P, Q, R ¥ | R fiyw
ABC %1 &7%a 5 31 31§ &, df st PQR %1
geet S 2 2

(a) gaﬁmé

5
(b) ﬁaﬁﬁré

(e) ga‘fiﬁﬁg

@ 19 3

A Forlt I it e e Y A H 200%
w1 fean s, @ Sewe foRa 5g o 9

(a) 300%

(b) 400%
(c) 600%
(d) 800%

dw 3w, ol @ 7@ 6 O 35 em R,
THEE H WY W § | I = faf@
&aee fora 2 2

(@) 6(/3r-2) T TR
(b) 6(2n—3)am T

© %(Qvfé—m CUlceTH

@ %(ﬁ—n)aﬁﬁé

79.

80.

81.

(23-A)

https://www.pygonline.com

TH WY YO H Gk, Pl e @ R,
forers s 2 2

(a) %azaﬁsaﬂé

(b) %azﬂ"fﬁﬁé
(c) %azﬂ‘ff’ﬁé

33 2 i g

(d)
ABCDEF U @9 9§41 & | C ¥l DW &1 @¥
FEatR @S &, S A W FAW: 30° 3 60° %
IFFT BV ARG B & | C W @S @Y Hi
96 AR DM @ T H I F AU w4
27

() 243 :1

@ 2:48

% g9, ae e 13 em 8, B @ gEER
Gﬁmaﬁﬁaw@m:mmaﬂumm%lﬂﬁ
qRI Sfler = % T & W@ @, q@ @ e
% e <l gl forarft 2 2

(a) 55cm

(b) 5cm
(© 35cm

(d 3cm



82.

83.

85.

BLS-S-FDE

If the radius of a right circular cone 1s
increased by p% without increasing its height,
then what is the percentage increase in the
volume of the cone ?

p
94 P
(d) p( +1OD]

A copper wire when bent in the form of a
square encloses an area of 121 em?. If the
same wire is bent in the form of a circle, it
encloses an area equal to

(a) 121 cm?
(b) 144 cm?
(¢ 154 cm?

(d) 168 cm?

ABC is a triangle and D is a point on the side
BC. If BC=12em, BD=9cm and
Z ADC = £ BAC, then the length of AC is
equal to

(a) 5cm
() 6cem
(¢) 8cm
(d 9cm

If the surface area of a sphere is reduced to
one-ninth of the area, its radius reduces to

(a)  One-fourth
(b)  One-third
(¢)  One-fifth
(d) One-ninth

86.

87.

88.

(24-A)

In a trapezium ABCD, AB is parallel to CD
and the diagonals intersect each other at O.
What is the ratio of OA to OC equal to ?

(a) Ratio of OB to OD
(b) Ratio of BC to CD
(c) Ratio of AD to AB

(d) Ratio of AC to BD

Ice-cream, completely filled in a cylinder of
diameter 35 ¢m and height 32 cm, is to be
served by completely filling identical
disposable cones of diameter 4 cm and height
7 ¢em. The maximum number of persons that

can be served in this way is

(a) 950
(b) 1000
(€ 1050
(d) 1100

The radius of a circle is increased so that its
circumference increases by 15%. The area of

the circle will increase by

(a) 31-25%
(b) 32:25%
() 3325%
(d) 34:25%
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82. IR UF wragea wig it S=wd & gy fary faer| 6.
3wt B po @@ € 9, A 9 & e |
forem siftrera gfg Bt 2 2
(a) p?

(b) 2p?

p2

(C) ﬁ
| (d) p(2+%]

83. 3fe a9 % U a0 A & ®Y  qrE T@ 8,

@ 389 121 cm? @9 UReg gt 3 | afe geft| 87
AN H UF g9 F €9 Algl A@ R, A 39
gr uftEg awa fhaar 2 2

(a) 121 cm?

(b) 144 cm?

(¢) 154 cm?

(d) 168 cm2

84. ABC Th Piys 2 &t 4om BC W @ farg
D2 |3 BC =12 cm, BD = 9 em 3R
Z ADC = 2 BAC 8, a1 AC &t &g =1 gt 2
(a) bHem
(b) 6cm
(c) 8cm
(d 9cm 88.

85. A Fret Mot w1 T dwE HTER I
A% o Aar e e a8, @ s
o= foat e St 2
(a) TH-TNUE
(b) UH-fogrs
(¢) Ueh % qieal faem
(d) T I AT o

BLS-S-FDE (25-A)

https://www.pygonline.com

T guee (¢difom) ABCD H, AB 3R CD
wAR § of faeel gm0 W e
& | 0A 3 OC &1 3ura o s 8 2

(a) OB 3R OD #I UM
(b) BC 3R CD F1 39
(c) AD 3 AB %I I

AC 3R BD 1 31U

U soq (Taferet) #1 = 35 em 3R F=rg
32 em B, W TREHM ¥ YW WO g B | U@
A I T B AH I GEEY
Yipal # @ e W s R, e =
4cm3ﬂtgﬁr§70m% | Afgadi i 98
Hfteraw & F 8, R 38 YR AEEhN
Ot S g 2

(a) 950
(b) 1000 .
(¢ 1050

(d) 1100

w ga 6 o g 8 el b oty §
15% F g T | 39 F dwa A fhd 9fy

Brft 2

(a) 3125%
(b)  32-26%
() 3325%
d) 3425%



89.

BLS-S-FDE

ABCD is a rectangle. The diagonals AC and
BD intersect at O. If AB = 32 em and
AD = 24 ¢m, then what is OD equal to ?

(a) 22cm

{(by 20cm
(¢) 18cm

(d) 16cm

A field is divided into four regions as shown in
the given figure. What is the area of the field
in square metres ? https:/www.pygonline.com

Im

2
o 3m

3m

(a) 64+ %JE

(b) 5+—3—J§
(c) 9+% 15

@@ 7+242

(26-A)

https://www.pygonline.com

91.

92.

In the figure given below, D is the diameter of
each circle. What is the diameter of the shaded
circle ?

(@) D(J2-1)
() D(2+1)
© D(J2+2)
d D@-+2)

In the figure given below, AC is parallel to ED
and AB = DE = 5 cm and BC = 7 cm. What is
the area ABDE : area BDE : area BCD equal
to ?

E 5 cm D

A 5 cm B T em C

(a) 10:5:7
(h) 8:4:7
() 2:1:2
(d 8:4:5



89. ABCD U% 31 ¢ | feol AC siit BD wh-g@t |91,
W OW HFR § | A AB = 32 cm 3N
AD =24 em 2, 91 OD foress SR 2 9

(a) 22cm
(b) 20cm
(¢) 18cm

(d) 16cm

90. T @d (fices) 1 TR &1 § R fen man
2, 1 6 § 7 arpfa A guiw T 2 | @

(Freg) F1 gawe @ diet o fore 2 2
2m 2m
[T |m
Im

oS

L 2m

3m 92.

3m
3m
(@) 6+3.5
(b) 5+%J§

-(c) 9+ g#’ﬁ

@ 7+242

BLS-S-FDE (27-A)

A= & argpfa #, TRE TR AT D R |
ORI 0 H1 oI 41 8 2

(a) D(J2-1)
(b) D(V2+1)
© D((2+92)

d DE©-+2)

f= & 18 amfa #, AC 3 ED warm £, ok
AB=DE=5cm 4 BC=7cm % |
#3%d ABDE : &%« BDE : &3%a BCD
fopereh s 8 2

/ /\\//\\

A 5cm B T em C

(@) 10:5:7
by 8:4:7
() 2:1:2
(d 8:4:5
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93. In the figure given below, PQRS is a|95. In the figure given below, PQR is a
parallelogram. PA bisects angle P and SA non-isosceles right-angled triangle, right
bisects angle S. What is angle PAS equal to ? angled at Q. If LM and QT are parallel and

QT = PT, then what is Z RLM equal to ?

P Q
p
A
T
S R

M
(a) 60° Q L R
(b) 75° (a) 2PQT
() 90° (b) ZLRM
(d 100° (¢} ZRML

(d <£QPT

96. In the figure given below, PQ is parallel to RS

94, In the figure given below, ZA = 80° and and PR is parallel to QS. If £ LPR = 35° and
Z ABC = 60°. BD and CD bisect angles B and £ UST =170°, then what is £ MPQ equal to ?
C respectively. What are the values of x and y
respectively ?
A

(a) 10 and 130

(b) 10and 125 (a) 557

(by T70°
(¢) 20and 130 (cy T75°
(d) 20and 125 . (d) 80°

BLS-S-FDE (28-A)
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93.

94.

BLS-S-FDE

f= & ¢ amplt ¥, PQRS UH WA wgyw
2 | PA I Pl 991 SA &0 S &l ol
H & | HIT PAS Forass TR R 9

b

(a) 60°

(b) 75°
(e} 90°
(d) 100°

M § m oaf d, A =80 3K
ZABC=60°% | BD 3R CD %ul: #19 B 2t
H ¢ e wt & 1 x iRy F 9w
A 18 2

(a) 10 3R 130
(b) 1037 125
(¢) 203 130
@ 203 125

95.

96.

(29-A)

A9 & 78 el #, PQR ok femfgarg T
P 2, fomd o1 Q v @ 1 3R LM afk
QT TR & 4T QT = PT 2, d' ~ RLM frus
T8 ?

P
T
M

Q L R
(a) ZPQT
(b) ZLRM
(¢) «RML
(d ZQPT

f2 & ® sl #, pq 3t RS TUWR F qur
PR 3N QS EAR & | I £ LPR = 35° 3iK
ZUST =70°%, d ~ MPQ foFass aer 2 2
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917.

98.

In the figure given below, ABC is a triangle
with AB = BC and D is an interior point of the
triangle ABC such that £ DAC = £ DCA.

B

A C
Consider the following statements :
1.  Triangle ADC is an isosceles triangle.
2.  Dis the centroid of the triangle ABC.

3. Triangle ABD is congruent to the
triangle CBD.

Which of the above statements are correct ?

(a) 1and2only
(b) 2and 3 only
(¢) 1and3only
(d 1,2and3

In the figure given below, M is the
mid-point of AB and ZDAB = ZCBA and
Z AMC = Z BMD. Then the triangle ADM is
congruent to the triangle BCM by

C D
A M B
(a) SASrule
(b) SSSrule
(c) ASArule
(d) AAArule
BLS-S-FDE

99.

100.

(30-A)

ABCD is a square. X is the mid-point of AB
and Y is the mid-point of BC.

Consider the following statements :

1.  Triangles ADX and BAY are congruent.
2. ZDXA=_/AYB.

3. DXis inclined at an angle 60° with AY.

4.  DXis not perpendicular to AY.

Which of the above statements are correct ?

(a) 2,3and4only
(b) 1,2and 4 only
(¢) 1,3 and4only
(d) 1land2only

From an aeroplane vertically over a straight
horizontal road, the angles of depression of
two the
opposite sides of the aeroplane are observed to
be o and P. The height of the aeroplane above

consecutive kilometre-stones on

the road is

tana +tanp
tan o tanp

(a)

(h) tan o tan

tan o + tan p

cot o cot B
cot o + cot B

(c)

cot o + cot B

@ cot o cot B
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97, 49 § ™ wfy #, ABC & fiyw 3 Rt 9.
AB = BC % 991 By ABC # U& an=ifiss forg
D, 38 YR & % / DAC=,DCAR |
B
D
A C
ﬁmﬁﬁawﬁimﬁwa‘ﬁﬁu:
1. s ADC T wwfgarg B 2 |
2. s ABCHFI %% DR |
3. T3 ABD 3t £ CBD wafmem % |
I Y A B R w2
(a) had 132
(b) had 23 3
(¢) haet 13K 3
d 1,233
‘ 100.
98, R & TS s #, AB F wemfag M B @
/DAB=/CBAR 3R L AMC= /BMD % |
d@ s ADM st fiy BeM fvw fem @
gabray 8 2
) C D
A M B
(a) SASfrum
(b) SSS frm
() ASA fmm
d AAAfrEm
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ABCD & &1 2 | AB %1 wea-farg X 8 9o BC
wAefag YR |
ﬁﬁ%@ﬂ@ﬂﬂﬁ?ﬂw

1. Tiys ADX 3 BAY wtmam § |

2. 2DXA=/AYB.

3.  AYS ®¥ DX, 60° % 1o YT 374 2 |
4, AYWR DX &9 T8 2 |

T HYA § Y B T F 2

had 2, 3 3N 4
o 1,2 3 4
Fad 1,3 3N 4
Fad 137K 2

(a)
(b)
(c)

(d)

s Hidt &S gee & @R IW e T
& W, T FHATT fhardet % yeerl, S gard
FE & faodia feanett # £, % s/ 01 o
3 p e BT T | WeH % S FATS
$ S w1 ?

tan o + tan
tan o tanf

tan o tan f
tana + tan

cot o cot B
cot o + cot B

cot o + cot
cot o cot f
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10.

S e P———— e ———

FFew
The ST 21 3 g ATe, AT 56 Ther qiEeRT <hl TEATer v o fon 3ad g o o,
mmwg&nwmwm,aﬁﬂﬁIﬂﬁﬁm%,ﬁsﬁuﬁuﬂwg%wﬁm'&ﬁﬁm
mmr@ﬁﬁomm-mﬁ,ﬁawm,ﬁﬁwaﬁwﬂwgiﬁm (it
mﬁa)&n,cmnﬁ,mﬁqﬁﬁm%ﬁwmﬁwﬁ%wﬁaﬁtmwﬁgﬁwﬁmﬁ
Tofigar i 2 | Rt oft s Y I /et < feufa o swowes T = fean s |
7 vt qftaest W wY # Ty Fies 7 ST A
ST foreaT B | whem gfeee wooil g T e |
wqﬁwgﬁwﬁmom(mﬁ)ﬁlm%|Hﬁ$mi%aﬁaﬁta*rﬁ;-ﬁaﬁ=ﬁﬁw%iu@$
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& | eI AT % T daer g g gl g B |
mmaﬂﬁmméﬁqmm-mwg?aiﬁmmﬁi‘lm.wﬁﬁqwﬁ%ﬂ%ﬁam
T4t e % 1% §UE 2 |
o TEat i S qde gre & fafi SRAT ¥ YRR ST-Oh W S HE1 TE R, A T
THULGA ¥ T G e F IIER 5B T SmEE A R
amamimﬁﬁﬁaﬁm-mﬁnﬁ%mwwﬁm%wma)r«mm-mmﬁaasﬁ
e 3 | T s wy vl g & W SR R |
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Gi)  af Fr Iefizan @ 2 e I G 2, A 38 Weld I A Sem, Fef U S § @ T IW
wg) g 8, fR st 3| v & for swderEn € sE a1 ovs i e |
(i) af Sfieam g B Y A1 TR S 2, vt Sefican g S A e e R, § 9% W &
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e 7% T Tg GO GIAasT Gierd &1 7 HET AY 7T a7 Gl

Note : English version of the instructions is printed on the front cover of this Booklet.
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